
	Clarity for Learning 

	[bookmark: _gjdgxs]Standard KY.K.OA.2 Solve addition and subtraction word problems and add and subtract within 10 by using objects or drawings to represent the problem.

	Concepts (Nouns)
addition word problems
subtraction word problems
objects
drawings
	Skills (Verbs)
add within 10
subtract  within 10
represent meaning of story

	Learning Progressions
Prerequisite Skills:
· One to One Correspondence
· Cardinality
· Count objects to 10

Grade Level Skills:
· Solve add to-results unknown word problems within 10 using objects or drawings.
· Solve take from-result unknown word problems within 10 using objects or drawings.
· Solve put together/take apart-total unknown word problems within 10 using objects or drawings.
· Solve put together/take apart-addend unknown word problems within 10 using objects or drawings. 
See Table 1 Appendix A below.

Clarifications:
Students flexibly model or represent addition and subtraction situations or context problems (involving sums and differences up to 10). See Table 1 in Appendix A inserted below:
[image: ]
Note: Drawings need not show detail but accurately represent the quantities involved in the task.
KY.K.OA.2→KY.1.OA.1







	Learning Intentions (I am learning to...)
	Success Criteria (I know I’m successful when...)

	Solve word problems by modeling the story with objects or pictures.




	· I can model the story and solve the problem using up to 5 objects. 
· I can model the story and solve a problem up to 5  by drawing.
· I can model the story and solve the problem using up to 10 objects. 
· I can model the story and solve a problem up to 10  by drawing.



image1.png
Common Addition and Subtraction Situations®

Result Unknown Change Unknown Start Unknown
Two bunnies sat on the grass. Three | Two bunnies were stting on the grass. Some more | Some bunnies were stting 0n the grass. Three
more bunnies hopped there. How | bunnies hopped there. Then there were five more bunnies hopped there. Then there were five

AddTo | many bunnies are on the grass now? | bunnies. How many bunnies hopped over tothe | bunnles. How many bunnies were on the grass.
fist two? before?
20322 2+ 24
Five apples were on the table. 13t | Five apples were on the table. | 3t some 3pples. | Some appies were on the table. | ate two apples
Take | two apples. How many apples are on | Then there were three appis. How many apples | Then there were three apples. How many apples
From | the table now? didleat? were on the table before?
s-2227 s- -
Total Unkown “Addend Unknown oth Addends Unknown”
Three red apples and two green Five apples are on the table. Three are red and the | Grandma has five flowers. How many can she put
Put | apples are on the table. Howmany | restare green. How many apples are green? in her red vase and how many in her blue vase?
‘Together/ | apples are on the tabie?
Take 3:2-2 520+5,5-5+0
Apart®
5-2+3,5-3+2
Difference Unknown Bigger Unknown Smaller Unknown
(How many more?” version]: Wersion with “more’]: TWersion with “more’]:
Lucy has two apples. Julie has five | Jule has three more apples than Lucy. Lucy has two | Jule has three more apples than Lucy. Julie has
‘apples. How many more apples does | apples. How many apples does Julie have? five apples. How many apples does Lucy have?
Lucy have than ulie? (Version with “fewer”): (Version with “fewer”):

Compare* | (*How many fewer?” version): | Lucy has three fewer appls than Julie. Lucy has | Lucy has three fewer apples than Juli. ule has
Lucy has two apples. Juliehas five | two apples. How many apples does Juliehave? | five apples. How many apples does Lucy have?
apples. How many fewer apples does
Lucy have than ulie?

242-55-2=2 243223+ 532224325
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